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1/20 (¥43)



e PFERICB TR RERERR

AR i 3-27

SHM3EE
P B AT (RATOY—AEER) | g W
5cm 50cm 100cm
Dt dilER (L) 0.04 0.04 — PA-1000
QOREILTE 0.05 0.06 — PA-1000
QR EFEED 0.04 0.05 — PA-1000
1/120K) R |@ORERTEER 0.04 0.04 — PA-1000
O ERED 0.07 0.07 — PA-1000
©fliE L 0.06 0.07 — PA-1000
ibi5 0.03 0.05 — PA-1000
Ot ER (1) 0.05 0.04 — PA-1000
QR EILRED 0.04 0.03 — PA-1000
O EFEED 0.07 0.06 — PA-1000
7/280K) BN (@ ERETEED 0.04 0.04 — PA-1000
O ERED 0.05 0.04 — PA-1000
®fiEL 0.08 0.08 — PA-1000
ibis 0.05 0.04 — PA-1000
2/20 (#%3)



e PFERICB TR RERERR

AR i 3-27

SM2EHE
P B AT (RATOY—AEER) | g W
5cm 50cm 100cm
Dt dilER (L) 0.03 0.04 — PA-1000
QOREILTE 0.04 0.04 — PA-1000
QR EFEED 0.04 0.04 — PA-1000
10/70K) BN |@ORERTEER 0.04 0.04 — PA-1000
O ERED 0.04 0.04 — PA-1000
©fliE L 0.06 0.05 — PA-1000
ibi5 0.04 0.05 — PA-1000
Ot ER (1) 0.03 0.04 — PA-1000
QR EILRED 0.04 0.04 — PA-1000
O EFEED 0.05 0.05 — PA-1000
4/21(A)EN (@R ERTE ST 0.04 0.06 — PA-1000
O ERED 0.06 0.06 — PA-1000
©fliEL 0.07 0.07 — PA-1000
15 0.04 0.05 — PA-1000
3/20 (#%3)



e PFERICB TR RERERR

AR i 3-27

TR
P B AT (RATOY—AEER) | g W
5cm 50cm 100cm
Dt dilER (L) 0.04 0.04 — PA-1000
QOREILTE 0.04 0.04 — PA-1000
QR EFEED 0.08 0.07 — PA-1000
10/7(A)EY |@®EREE 0.04 0.05 — PA-1000
O ERED 0.04 0.04 — PA-1000
©fliE L 0.06 0.06 — PA-1000
ibi5 0.04 0.05 — PA-1000
Ot ER (1) 0.03 0.04 — PA-1000
QR EILRED 0.04 0.04 — PA-1000
O EFEED 0.06 0.06 — PA-1000
419(E)BEN | @ERTES 0.05 0.06 — PA-1000
O ERED 0.04 0.05 — PA-1000
®fiEL 0.06 0.06 — PA-1000
ibis 0.05 0.05 — PA-1000
4/20 (#%3)



e PFERICB TR RERERR

AR i 3-27

R 30EE
P B AT (RATOY—AEER) | g W
5cm 50cm 100cm
Dt dilER (L) 0.04 0.05 — PA-1000
QOREILTE 0.06 0.06 — PA-1000
QR EFEED 0.06 0.06 — PA-1000
10/5(&)EY |@KBERTEED 0.05 0.06 — PA-1000
O ERED 0.04 0.04 — PA-1000
©fliE L 0.08 0.08 — PA-1000
ibi5 0.05 0.06 — PA-1000
Ot ER (1) 0.04 0.04 — PA-1000
QR EILRED 0.03 0.04 — PA-1000
O EFEED 0.09 0.08 — PA-1000
4/12(R)EY | @OKRERMTEED 0.05 0.05 — PA-1000
O ERED 0.08 0.08 — PA-1000
®fiEL 0.06 0.07 — PA-1000
ibis 0.05 0.06 — PA-1000
5/20 (#%3)



TR 294E BE

AIEE (RO —N)LNEHE)

BIE B -XRix B 7 #h R Som Socm o0 BIE R wE
gt ER (L) 0.04 0.05 — PA-1000
QOREILTED 0.04 0.04 — PA-1000
QR EFEED 0.05 0.05 — PA-1000
10/6(£)EY |@KERTEED 0.05 0.05 — PA-1000
OB ERED 0.06 0.06 — PA-1000
©fliE L 0.08 0.08 — PA-1000
ibis 0.07 0.07 — PA-1000
Ot ER (1) 0.06 0.06 — PA-1000
QK EILERED 0.04 0.05 — PA-1000
QK EFEED 0.07 0.08 — PA-1000
419K BN (@ ERTE ST 0.05 0.05 — PA-1000
O ERED 0.09 0.08 — PA-1000
©fliEL 0.07 0.08 — PA-1000
ibi5 0.07 0.06 — PA-1000
6/20 (#%3)



e PFERICB TR RERERR

AR i 3-27

R 28EE
P B AT (RATOY—AEER) | g W
5cm 50cm 100cm

Dt dilER (L) 0.04 0.04 — PA-1000
QOREILTE 0.04 0.05 — PA-1000
QR EFEED 0.10 0.09 — PA-1000

10/7(£) BN |ORERETEEE 0.06 0.06 — PA-1000
O ERED 0.08 0.07 — PA-1000
©fEL 0.08 0.08 — PA-1000 FRi28F 10 BIFE A HIEM
ibi5 0.07 0.07 — PA-1000
Ot ER (1) 0.04 0.05 — PA-1000
QR EILRED 0.05 0.06 — PA-1000

. (X BE 7 &P 0.06 0.09 — PA-1000

Y22 () @R ERTEED 0.05 0.06 — PA-1000
O ERED 0.07 0.10 — PA-1000
ibi5 0.06 0.09 — PA-1000

FRE2TEEE

AER R A ARREATBZZNER | s %

5cm 50cm 100cm

Ot ER (1) 0.05 0.05 — PA-1000
QOREILTED 0.06 0.07 — PA-1000

10/7 K B R BETEED 0.09 0.11 — PA-1000
@ BER PEED 0.06 0.07 — PA-1000
ORBERED 0.09 0.10 — PA-1000
15 0.08 0.09 — PA-1000
O ER (1) 0.05 0.05 — PA-1000
OREILTEE 0.06 0.06 — PA-1000

4/27(H) R R BETEED 0.08 0.09 — PA-1000
@ BER PEED 0.08 0.08 — PA-1000
ORBERED 0.15 0.15 — PA-1000
Wi5 0.09 0.09 7 /o0 PA-1000 (432




e PFERICB TR RERERR

AR i 3-27

5 26 4 B
1% B - KR B 00912 AEE s
0.1002 0.1212 100cm

Ot ER (1) 0.10 0.09 — PA-1000
QOREILTE 0.11 0.09 — PA-1000

/9@ R QR EFEED 0.05 0.06 — PA-1000
@R ERTEED 0.08 0.08 — PA-1000
OB ERED 0.10 0.13 — PA-1000
iz 0.07 0.10 — PA-1000
Ot ER (1) 0.06 0.05 — PA-1000
QR EILRED 0.08 0.10 — PA-1000

10/8 K B QR EFEED 0.08 0.11 — PA-1000
@R ERTEED 0.06 0.08 — PA-1000
OB ERED 0.10 0.12 — PA-1000
i 0.09 0.11 — PA-1000
Ot ER (1) 0.05 0.06 — PA-1000
QOREILTED 0.05 0.07 — PA-1000

17804 BER OREFE D 0.09 0.10 — PA-1000
@REmRTEED 0.07 0.08 — PA-1000
ORBERED 0.12 0.17 — PA-1000
i 0.08 0.12 — PA-1000
O ER (1) 0.07 0.08 — PA-1000
OREILTEE 0.07 0.07 — PA-1000

4118 R R BEFEED 0.11 0.12 — PA-1000
@ BER PEED 0.09 0.09 — PA-1000
ORBERED 0.14 0.15 — PA-1000
15 0.12 0.14 — PA-1000

8/20 (#%3)



BB PERITE T HRETHR

AR i 3-27

=RERBR

FRi254E B
AER X A AERATEL VBT | g s
5cm 50¢cm 100cm
Ot h i ER (1) 0. 05 0. 06 — PA-1000
QOKEILEED 0. 05 0. 06 — PA-1000
3./6(K) QIRBEFE LR 0.10 0. 11 — PA-1000
En @ BERTFE LR 0. 07 0. 08 — PA-1000
O ERED 0. 14 0. 15 — PA-1000
b5 0. 11 0.12 — PA-1000
Ot h i ER (1) 0. 06 0. 07 — PA-1000
QREILEED 0. 06 0. 06 — PA-1000
2/3(A) QR ETED 0. 11 0.12 - PA-1000
Ah @ RERITE LR 0. 08 0. 08 — PA-1000
ORERSD 0.13 0.15 — PA-1000
ibi5 0. 10 0.12 — PA-1000
O L ER (1) 0. 07 0. 07 — PA-1000
QREILEED 0. 06 0. 07 — PA-1000
FRR265E Gy 0. 10 0. 11 — PA-1000
1.7 (CR)
=, @ B 7 75 3P 0. 07 0. 08 — PA-1000
O ERED 0.14 0.15 — PA-1000
ibi5 0. 10 0. 11 — PA-1000
Ot ER (1) 0. 06 0. 06 — PA-1000
QKEILEED 0. 06 0. 06 — PA-1000
12.73(k) | OREFEER 0. 09 0. 09 - PA-1000
A @ BERT TG 5 0. 09 0. 09 — PA-1000
O ERED 0.16 0.15 — PA-1000
15 0. 10 0.13 - PA-1000
9/20 (#%3)



BB PERITE T HRETHR

AR i 3-27

=RERBR

5 25 BE
AER X A AERATEL VBT | g s
5cm 50cm 100cm
gt ER (1) 0. 06 0. 06 - PA-1000
QOREITED 0.14 0.16 - PA-1000
1150k  |OREFEER 0.10 0. 10 - PA-1000
En @ BRI TG 5 0. 06 0. 09 — PA-1000
OB ERED 0. 07 0. 06 — PA-1000
fibi5 0. 10 0.12 — PA-1000
gt ER (1) 0. 07 0. 07 - PA-1000
QK EILERED 0. 08 0. 08 — PA-1000
10/4(%) |QOKERE 0.18 0.13 — PA-1000
B @ BERTFE LR 0. 09 0. 09 — PA-1000
OB ERED 0.13 0.14 — PA-1000
15 0.10 0.12 — PA-1000
Ot ER (1) 0. 07 0. 07 - PA-1000
QK EILERED 0. 07 0. 07 — PA-1000
9./3(X) QRERER 0. 11 0.10 — PA-1000
A @R EERFEL 0. 09 0. 10 — PA-1000
GORBERED 0.12 0.12 — PA-1000
15 0.10 0.13 — PA-1000
Ot ER (1) 0. 07 0. 08 - PA-1000
QOREILTED 0. 07 0. 09 - PA-1000
8./5(H) OREFE LD 0.10 0.10 - PA-1000
A @R EERFEL 0. 10 0. 10 — PA-1000
ORBERED 0.16 0.17 - PA-1000
15 0. 11 0.13 — PA-1000
10/20 (#%3)



BB PERITE T HRETHR

AR i 3-27

=RERBR

TRk 255 F
AER X A AERATEL VBT | g s
5cm 50cm 100cm
gt ER (1) 0. 07 0. 08 - PA-1000
QOREITED 0.15 0.12 - PA-1000
7./2(K) RBEFEED 0.18 0. 20 - PA-1000
L @ BRI TG 5 0. 10 0. 11 — PA-1000
OB ERED 0.17 0.18 — PA-1000
fibi5 0.12 0.14 — PA-1000
gt ER (1) 0. 08 0. 08 - PA-1000
QK EILERED 0. 06 0. 07 — PA-1000
6.4 (k) R EFED 0. 09 0.10 - PA-1000
A @ BERTFE LR 0.10 0. 10 — PA-1000
OB ERED 0.15 0.16 — PA-1000
15 0. 11 0.12 — PA-1000
Ot ER (1) 0. 08 0. 07 - PA-1000
QK EILERED 0. 06 0. 07 — PA-1000
5-16(K) |OREFER 0. 09 0. 09 - PA-1000
A @R EERFEL 0. 10 0. 10 — PA-1000
GORBERED 0.14 0.13 — PA-1000
15 0.12 0.13 — PA-1000
Ot ER (1) 0. 09 0. 08 - PA-1000
QOREILTED 0. 11 0. 09 - PA-1000
4160k |OREFERD 0. 11 0. 11 - PA-1000
A @R EERFEL 0. 11 0. 10 — PA-1000
ORBERED 0.16 0.15 - PA-1000
15 0.12 0.13 — PA-1000
11/20 (#%3)



12/20 (¥43)



HEPERICEITOMS IR R ELR

AR i 3-27

T 244 B
S . BEB (A0 —X)LER) .
AlIZE R X1 I 5E Hh g ATE
|7E B - K% Bl 7E 1t — — T B 25 "%

1FZ BrIAR—IL(BA) — 0. 06 0. 06 PA-1000

s 1a0r) By [PEEERKR—IL(ER) — 0. 05 0. 05 PA-1000
FZ HAE—IL(BA) — 0. 06 0. 05 PA-1000
AEEERN) — 0. 05 0. 05 PA-1000
OBib i ER (1) 0. 09 0. 09 0. 09 PA-1000
Qwi% 0.12 0.14 0.13 PA-1000

3 hrd —

3 4(8) BY ®15:B§Enrs 0.17 0.16 0.13 PA-1000
@ ErRE IR 0.14 0.12 0.13 PA-1000
O ERER 0.16 0.18 0.17 PA-1001
O EILEER 0. 08 0.10 0. 09 PA-1000
1FZ BrAR—IL(BA) — 0. 07 0. 07 PA-1000
2FHE(BMA) — 0. 06 0. 06 PA-1000

2/6(0k) ™
IFHRE(BMA) — 0. 06 0. 06 PA-1000
AEEE(EBRN) — 0. 05 0. 06 PA-1000
Ot hLER (1) 0.10 0. 11 0. 10 PA-1000
Q15 0.12 0. 14 0. 15 PA-1000
QREEFER 0.13 0. 14 0.13 PA-1000

274(R) Bh =

N O 0. 11 0 12 0. 11 PA-1000

O RERER 0.16 0.17 0.18 PA-1001
GREILTER 0. 09 0.10 0. 10 PA-1000
IF&=E(BRN) — 0. 05 0. 06 PA-1000
FH=E(BA) — 0. 05 0. 05 PA-1000

1/171(R) HEh

1 lsrs= (2m) — 0. 05 0. 06 PA-1000

ARBEEERN — 0. 05 0. 05 PA-1000

13/20 (¥43)



BB PERITE T SRR

AR : i 3-27

=RERBR

R 244EE
E— . BIEE (w470 —N)LRER) .
/ﬂ“ﬂiE 961'; /,E\I]IEi‘m,ﬁ“ Sem 50cm 100¢m /ﬂ“l‘E%g 1%%
Ot e ER (£) 0. 11 0.10 0. 09 PA-1000
Qb5 0.12 0.15 0.14 PA-1000
TR 254 QI EFEED 0. 10 0.10 0. 10 PA-1000
1.790K) £Y |@kEErmdaEn 0. 08 0. 11 0. 11 PA-1000
O ERED 0. 15 0.18 0.17 PA-1001
OREILEED 0. 13 0.13 0.12 PA-1000
1FZ B iHR—IL(EBRA) — 0. 06 0. 06 PA-1000
<, |2FE=EER) — 0. 07 0. 06 PA-1000
12120K) W 3F% BHHR—IL (BR) — 0. 05 0. 06 PA-1000
AKEE(ERN) — 0. 05 0. 05 PA-1000
Ot b ER (1) 0. 09 0.10 0. 09 PA-1000
Qb5 0.12 0.14 0.14 PA-1000
a2y |OBRETEDD 0. 08 0. 10 0. 10 PA-1000
127400 2Y @ BERIFEED 0. 08 0.10 0.10 PA-1000
ORERED 0.18 0. 20 0. 19 PA-1001
O®REILETE 0.13 0.14 0.14 PA-1000
O b ER (1) 0. 09 0.10 0.10 PA-1000
Qg (E=—)LY—kE) 0.12 0.14 0.14 PA-1000
<. |QORBETESH 0. 09 0. 09 0.10 PA-1000
1780K) B O 0.12 0. 11 0. 11 PA-1000
O ERED 0.13 0.15 0.16 PA-1001
@B EED 0. 09 0. 11 0.10 PA-1000
IFREOERA) — 0. 06 0. 06 PA-1000
Ly = |2FERF(BM) — 0. 05 0. 06 PA-1000
1760 & FERT (BA) — 0. 06 0. 05 PA-1000
AKEE(EN) — 0. 05 0. 06 PA-1000

14/20
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BB PERITE T HRETHR

AR i 3-27

=RERBR

TRE244EE
. . BIEE (A0S —RN)LNER) .
’EIH_'E' | .‘|-—=—-i ,Fiu / e
bl ]E 9&1; /,EIITE ﬁ’, =0 500m 100em /EIIE% ﬁ%%
1IFREEOERN) — 0. 05 0. 06 PA-1000
2FERT (BMA) — 0. 04 0. 04 PA-1000
10.712(%) BN
P R T (BM) — 0. 05 0. 05 PA-1000
AEEERN) — 0. 06 0. 06 PA-1000
Ot hLER (1) 0. 11 0. 10 0. 11 PA-1000
Qwi% 0.13 0. 15 0. 15 PA-1000
=, |OKERHIR 0.10 0. 11 0. 11 PA-1000
10.73(k) £Y =
@ ErRE IR 0. 14 0.14 0.14 PA-1000
O ERER 0.13 0.17 0.18 PA-1001
O EILEER 0. 10 0. 11 0. 09 PA-1000
1FZ BrAR—IL(BA) — 0. 06 0. 06 PA-1000
2FHE(BMA) — 0. 04 0. 05 PA-1000
9./713(K) Bhn
x) IFHE (BR) — 0. 05 0. 06 PA-1000
AEEE(EBRN) — 0. 05 0. 06 PA-1000
Ot hLER (1) 0. 09 0. 09 0. 09 PA-1000
@mi% (E=—I)L>—k L) 0.13 0. 14 0. 15 PA-1000
QREEFER 0. 07 0. 08 0. 09 PA-1000
9./4(:k) BEHQ —
N O 0 13 0. 13 0 12 PA-1000
O RERER 0. 21 0. 21 0.19 PA-1001
GREILTER 0.12 0.14 0.13 PA-1000
1FR—IL(BRA) — 0. 05 0. 05 PA-1000
2FR—IL(BW) — 0. 06 0. 06 PA-1000
8/6(H) ™M
FER T (BMA) — 0. 06 0. 05 PA-1000
ARBEEERN — 0. 05 0. 06 PA-1000

15/20
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BB PERITE T SRR

AR : i 3-27

=RERBR

RR244EE
— . BIEE(RA/OS—R LN ER) .
BlIE R X1 I 5E #h S - Sl
A E 1; /,E\IIE 1i’, Sem 50cm 100¢m /ﬂ]l‘E%g 1%%
O#hsth i (£) 0.10 0. 11 0.10 PA-1000
Q15 0.13 0.17 0.17 PA-1000
QR ETER 0. 32 0. 26 0. 25 PA-1000
8./3(%£) Bh =
R T 0.16 0 17 0. 15 PA-1000
O ERER 0. 20 0. 22 0.19 PA-1001
O EILERER 0. 11 0.12 0.13 PA-1000
1FZB(BWN) — 0. 07 0. 07 PA-1000
QFHE(BA) — 0. 06 0. 06 PA-1000
779(R) Bh
" srm=(Bm) — 0. 06 0. 06 PA-1000
ABEEN) — 0. 05 0. 05 PA-1000
OBib i ER (1) 0. 11 0.12 0. 11 PA-1000
Qb5 0.13 0.16 0.18 PA-1000
QR FETER 0. 29 0. 29 0. 25 PA-1000
774(K) BEn -
" |oxkEmED 0 17 0 17 0 17 PA-1000
O ERE 0.12 0. 16 0.17 PA-1001
®REILTED 0. 11 0.13 0.12 PA-1000
1FR—IL(BRA) — 0. 06 0. 06 PA-1000
2FHZE(BMA) — 0. 06 0. 06 PA-1000
6.712(K)
3FR—IL(BWN) — 0. 06 0. 07 PA-1000
ABEEN) — 0. 05 0. 05 PA-1000
Dt ehHER (1) 0. 14 0.14 0.13 PA-1000
Qw15 0. 14 0.18 0.17 PA-1000
X EE TR &R 0. 31 0. 28 0.27 PA-1000
682 mh BB
(&) B @ FERE PSR 0. 27 0. 21 0. 20 PA-1000
O RERER 0.14 0. 15 0.17 PA-1001
OB REILEHER 0.15 0.14 0.14 PA-1000

16/20
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BB PERITE T SRR

AR : i 3-27

=RERBR

R 24 4 BE
Nzl =—] | == :I'-H -E 7 I:I: _/{ l/ 5 0 Nl =]
A A - FIR A AEE(XATOS—AEEER) | s .
5cm 50¢m 100c¢m
1FHE(BN) — 0. 06 0. 07 PA-1000
FHE(BA) — 0. 05 0. 05 PA-1000
IFHE(BMA) — 0. 06 0. 06 PA-1000
ABEEN) — 0. 05 0. 06 PA-1000
- OBib i ER (1) 0.14 0.13 0.13 PA-1000
5/9 =L
780K) BY Q15 0.18 0. 20 0.19 PA-1000
QR EFER 0. 42 0. 35 0. 33 PA-1000
@ RER T ER 0.19 0. 20 0. 20 PA-1000
O ERER 0. 29 0. 25 0. 24 PA-1001
OREILTED 0.14 0.14 0.13 PA-1000
1FREO(BA) — 0. 07 0. 08 PA-1000
- QFHE(BA) — 0. 05 0. 07 PA-1000
4,20(%) L
7200®) EY IFHE(BMA) — 0. 07 0. 06 PA-1000
ABEEN) — 0. 05 0. 05 PA-1000
OBib i ER (1) 0.14 0.14 0.14 PA-1000
Qb5 0. 14 0. 19 0. 19 PA-1000
QREEFHER 0. 26 0.27 0. 26 PA-1000
£
4712(K) ERn @ REFI T ER 0. 20 0. 21 0. 21 PA-1000
O RERER 0. 28 0. 25 0. 26 PA-1001
O EILEHEER 0.17 0.17 0.16 PA-1000
17/20 (¥43)



HEPERICEITOMS IR R ELR

AR i 3-27

TRE234EE
e . BIEE (A0S —RN)LNER) .
A H - X R E e R : B
A E 1; /,EIITE ﬁ’, =0 500m 100em /EIIE% ﬁ%%
1FHE(BRN) — 0. 07 0. 07 PA-1000
2FHE(BMA) — 0. 06 0. 07 PA-1000
3/16(&) Bh
T sFs = (BM) — 0. 07 0. 06 PA-1000
AEEERN) — 0. 09 0. 08 PA-1000
Ot hLER (1) 0. 16 0. 16 0. 15 PA-1000
Q@mig(E=—)Lo—+E) 0.17 0. 21 0.23 PA-1000
= |OBRERIR 0. 35 0. 31 0. 32 PA-1000
3./70k) =L —
(7K) ‘ @ ErRE IR 0. 37 0. 30 0. 28 PA-1000
O ERER 0. 25 0. 24 0. 20 PA-1001
O EILEER 0. 20 0. 21 0.19 PA-1000
1IFEZE(BN) — 0. 06 0. 07 PA-1000
2 140K) BY 2F$5zf(§m) — 0. 06 0. 07 PA-1000
SFHE(BA) — 0. 05 0. 07 PA-1000
AEEE(EBRN) — 0. 08 0. 07 PA-1000
Ot hLER (1) — 0.17 0. 16 PA-1000
Q15 0. 24 0. 24 0. 23 PA-1000
QREEFER — 0. 33 0. 24 PA-1000
2/1(5K) B
OK) B @R EREEE — 0. 21 0. 19 PA-1000
O RERER — 0. 26 0. 26 PA-1001
GREILTER — 0. 28 0. 24 PA-1000

18/20 (¥43)



BEPRERIZHITOAMIIRERNERR
e #2 & 3-27
TRE234EE
S . BEB (A0 —X)LER) .
AlIZE R X1 I 5E Hh g ATE
85 B - K% Bl 7E 1t — — T Bl E 25 "%
1FHE(BRN) — 0. 06 0. 06 PA-1000
2FHE(BMA) — 0. 06 0. 06 PA-1000
1./18 i3
k) Bn IFHE (BR) — 0. 06 0. 06 PA-1000
AEEERN) — 0. 06 0. 07 PA-1000
Dghih i ER (1) — 0. 22 0. 21 PA-1000
Qs 0. 20 0. 25 — PA-1000
Rk 244 QREEFER — 0. 46 — PA-1000
1.7110K) &Y |owEmmEs — 0. 38 — PA-1000
O ERER — 0. 31 — PA-1001
O EILEER — 0. 20 — PA-1000
1IFEZE(BN) — — 0. 07 PA-1000
= |2F&EZE(BR) — — 0. 06 PA-1000
12714 =l
() ‘ IFHRE(BMA) — — 0. 07 PA-1000
AEEE(EBRN) — — 0. 07 PA-1000
EhhiER () — 0. 22 0. 20 PA-1000
= |15 0. 20 — — PA-1000
12/6(k) £Y
AEEE/RAEE — 0. 31 — PA-1000
RELAAEE — 0. 41 — PA-1000
IFEEESE(BRN) — 0. 08 — PA-1000
FHEE(BR) — 0. 06 — PA-1000
11.718(%£) B
At IFEHE(BRA) — 0. 07 — PA-1000
AKEBEERN — 0. 07 — PA-1000
HEZEILAIR — 0. 35 — PA-1000
MA17(K) B
() B )38 35 R A i — 0. 36 — PA-1000
19/20 (¥43)



BREPFERICEITOMHAREAERR
FriEHh : $k & 3-27
FRR234EFE
O [ BIEME (w40 —N)LAER) e
/E“EE iﬂ; /,E‘IIITEHEEE\\ o 500m 100em /EIIIE% ﬁ%%
11os0k) By PREROEE) — 0. 21 0. 21 PA-1000
fibis 0. 21 — — PA-1000
1FHE (BN) — 0. 08 — PA-1000
2QFHZE (BA) — 0. 06 — PA-1000
FHE (BA) — 0. 06 — PA-1000
KEEERN) — 0. 07 — PA-1000
10720(K) =Y |&EmRAIE — 0. 38 — PA-1000
i — 0. 29 — PA-1000
= ] — 0. 43 — PA-1000
BEALFEEIE — 0. 42 — PA-1000
1EPItE{RIE — 0. 37 — PA-1000
IFHZE(BRA) — 0. 07 — PA-1000
2QFHZE (BA) — 0. 06 — PA-1000
FHE (BA) — 0. 07 — PA-1000
KEEEN) — 0. 07 — PA-1000
9.720(k) £Y |&ERAEE — 0. 39 — PA-1000
Eh1 — 0. 30 — PA-1000
Eiho — 0. 48 — PA-1000
BEALFEAIE — 0. 42 — PA-1000
IEFIHE RIS — 0. 36 — PA-1000
1FZE (BN) — 0. 07 — PA-1000
FRE234E FEZE(BN) — 0. 07 — PA-1000
8.726(K) Bh [sr#m=(BHN) — 0. 07 — PA-1000
AEE(EN) — 0. 07 — PA-1000
20/20 (#%3)



